25530 ETA-4 OLD RAIL SPLICE ASSEMBLY

AR WN =

52430
52440
59955
51715
51765

DESCRIPTION QUANTITY

M6x1.0 Nylon Insert Lock Nut
M10x1.5 Prevailing Torque Nut
ETA-4 475A Block

M6x1.0 x 100mm SHCS
M10x1.5 x 100mm HHB

NN-=2NDN

OLD ETA-4 RAIL

© Copyright 2020, Unified Industries, Inc. All Rights Reserved. Www.unified-ind.com

30



